
Prénom : ...................................... Date : ............................................................................ 
 

 

Les quatre opérations (02) 

 

1./ Pose en colonnes et effectue ces quatre opérations : 
 

 

28 640,54 + 17 069,7 = …………………… 

 

 

907,65 – 349,8 = …………………… 

 

 

 

 

 

 

 

960,47 x 54 = …………………… 

 

 

26 979 : 12 =  …………………… (2 chiffres après la virgule) 

 

 

 

 

 

 

 

 

 

 

2./ Pose en colonnes et effectue ces quatre opérations : 
 

 

64 851,84 + 3 507,7 = …………………… 

 

 

5 863,1 - 3 267 = …………………… 

 

 

 

 

 

 

 

 

9 706,2 x 8,5 = …………………… 

 

 

36 342 : 24 = …………………… (2 chiffres après la virgule) 

 

 

 

 

 

 

 

 

 

 

 


